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Kaplan Meier curves and log-rank tests

The following figures are the Kaplan-Meier curves and log-rank tests obtained
for all the combinations of the three datasets (Bonome, TCGA, Tothill) described
in the manuscript. The testing was performed using a each of the datasets for
training and testing the results on the other two. Two stratifications were
performed: A) Using the top 40% patients with higher risk versus the 40% low
risk patients; and B) Using a 50%-50% split.
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Testing dataset: Tothill

Bonome tested with Tothill lasso Bonome tested with Tothill ridge
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Testing dataset: Tothill

TCGA tested with Tothill lasso
p_value = 0.00358173119864791
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A3) Training dataset: Tothill

Testing dataset: Bonome

Tothill tested with Bonome lasso
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Testing dataset: TCGA

Tothill tested with TCGA lasso
p_value = 0.00333422770723957
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B) Top 50% vs. Lower 50%

B1) Training dataset: Bonome

Testing dataset: TCGA

Bonome tested with TCGA lasso
p_value = 0.0719936836080244

100%
p-value = 0.07199368

g 5% — High risk - Lassa
= 3
% — Low risk - Lasso
Q
2 50%
k=
S
£
3 25%
o
0%
0 50 100 150
Time (month)
Bonome tested with TCGA funlinkage netcox
p_value = 5.08649318814447e-05
100%
p-value = 5.086493e-05
g . — High risk - NetCox
(% = Low risk - NetCox
I
2 50%
5
g
3 5%
o
0% 1
0 50 100 150
Time (month)
Bonome tested with TCGA funlinkage degree
p_value = 5.28367840382238e-05
100%
p-value = 5.283678e-05
S 52, = High risk - Degree
(% : = Low risk - Degree
o
£ 50%
©
=
E 2
o
0% 1
0 50 100 150
Time (month)

Cumulative Survival Cumulative Survival

Cumulative Survival

Cumulative Survival Cumulative Survival

Cumulative Survival

100%

75%

50%

25%

0%

100%

75%

50%

25%

0%

100%

75%

50%

25%

0%

100%

75%

50%

25%

0%

100%

75%

50%

25%

100%

75%

50%

25%

Tothill tested with TCGA ridge
p_value = 1.86381501240396e-05

p-value = 1.863815e-05

= High risk - Ridge
= Low risk - Ridge

50 150

100

Time (month)

Tothill tested with TCGA correlation netcox
p_value = 7.71737296290098e-09

p-value = 7.717373e-08
—— High risk - NetCox

— Low risk - NetCox

50 100 150
Time (month)

Tothill tested with TCGA correlation degree
p_value = 8.3474358869573e-08
p-value = 8.347436e-08
—— High risk - Degree

= Low risk - Degree

—
50 100 150
Time (month)

Bonome tested with TCGA ridge
p_value = 1.7952804948429e-05

p-value = 1.79528e-05
— High risk — Ridge
—— Low risk - Ridge

50 150

100
Time (month)
Bonome tested with TCGA correlation netcox

p_value = 2.16929606665639¢e-05
p-value = 2.169296e-05
—— High risk - NetCox

— Low risk - NetCox

50 100 150
Time (month)

Bonome tested with TCGA correlation degree
p_value = 0.000333220164252412
p-value = 0.0003332202
= High risk - Degree

= Low risk — Degree

g
50 100 150
Time (month)

S4



Testing dataset: Tothill

Bonome tested with Tothill lasso
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B2) Training dataset: TCGA

Testing dataset: Bonome

TCGA tested with Bonome lasso
p_value = 0.00219540966387699

100%
p-value = 0.00219541

] — High risk - Lassa
S 75%
5 = Low risk - Lasso
w
@
= 50%
=
S
E
3 25%
o
0%
0 50 100 150
Time (month)
TCGA tested with Bonome funlinkage netcox
p_value = 0.00150351131150595
100%
p-value = 0.001503511
g — High risk - NetCox
s 5%
> = Low risk - NetCox
w
@
= 50%
=
S
5 25%
o
0%
0 50 100 150
Time (month)
TCGA tested with Bonome funlinkage degree
p_value = 0.00900786861498459
100%
p-value = 0.009007869
g — High risk - Degree
s 5%
> = Low risk - Degree|
w
Q
2 50%
s
=
g 25%
o

0%
0 50 100 150
Time (month)

Cumulative Survival Cumulative Survival

Cumulative Survival

Cumulative Survival Cumulative Survival

Cumulative Survival

100%

75%

50%

25%

100%

75%

50%

25%

0%

100%

75%

50%

25%

0%

100%

75%

50%

25%

0%

100%

75%

50%

25%

0%

100%

75%

50%

25%

0%

o

0

Bonome tested with Tothill ridge
p_value = 0.00124797857886416

p-value = 0.001247979
= High risk - Ridge
= Low risk - Ridge

50 100 150 200
Time (month)

Bonome tested with Tothill correlation netcox
p_value = 0.0170350263698924
p-value = 0.01703503
— High risk — NetCox

— Low risk — NetCox

50 150 200

100
Time (month)

Bonome tested with Tothill correlation degree
p_value = 0.00759515431264868

p-value = 0.007595154
— High risk - Degree

= Low risk - Degree

50 100 150 200
Time (month)

TCGA tested with Bonome ridge
p_value = 0.00031930541606251
p-value = 0.0003193054
— High risk - Ridge
= Low risk - Ridge

50 100 150
Time (month)

TCGA tested with Bonome correlation netcox

p_value = 0.00362651183838825
p-value = 0.003626512
— High risk - NetCox

= Low risk — NetCox

50 00 150

1
Time (month)
TCGA tested with Bonome correlation degree
p_value = 0.0004393788551319
p-value = 0.0004393789
—— High risk - Degree

= Low risk - Degree

50 100 150
Time (month)

S5



Testing dataset: Tothill

TCGA tested with Tothill lasso TCGA tested with Tothill ridge
p_value = 0.0193095048158416 p_value = 0.00285640011936295
100%. 100%
p-value = 0.0193095 p-value = 0.0028564
g — Highrisk - Lassd |~ S — High risk - Ridge
S 75% S 75%
5 — Low risk - Lasso 5 — Low risk - Ridge
@ 7]
(3 []
2 50% = 50%
= ]
S E]
£ s E s
o 7 a ="
k= R —
0% 0%
0 50 100 150 200 0 50 100 150 200
Time (month) Time (month)
TCGA tested with Tothill funlinkage netcox TCGA tested with Tothill correlation netcox
p_value = 0.000312605934409294 p_value = 0.000124741329649458
100%. 100%
p-value = 0.0003126059 p-value = 0.0001247413
[ — High risk - NetCox g — High risk - NetCox
S 5% S 15%
=1 = Low risk - NetCox > = Low risk - NetGox
@ 7]
(3 (]
2 50% 2 50%
=) k=4
S E]
£ o E o5
o o
0% 0%
0 50 100 150 200 0 50 100 150 200
Time (month) Time (month)
TCGA tested with Tothill funlinkage degree TCGA tested with Tothill correlation degree
p_value = 0.000130920888348984 p_value = 5.78139813873779e-05
100%. 100%
p-value = 0.0001309209 p-value = 5.781398e-05
g — High risk — Degree g —— High risk - Degree
s 75% s 7%
=1 — Low risk — Degree 5 — Low risk — Degree
@ 7]
o o
2 50% 2 50%
= o
S S
£ s E 250
s} 5}
0% 0%
0 50 100 150 200 0 50 100 150 200
Time (month) Time (month)
B3) Training dataset: Tothill
Testing dataset: Bonome
Tothill tested with Bonome lasso Tothill tested with Bonome ridge
p_value = 0.646378766155758 p_value = 0.00500067936240978
100% 100%
p-value = 0.6463788 p-value = 0.005000679
3 — Highrisk - Lasso =~ 3 — High risk — Ridge
s 75% S 5%
5 —— Low risk - Lasso 5 — Low risk - Ridge
@ @
@ (3
2 50% 2 50%
5 5
S =
£ oo E s
(SR a7
0% 0%
0 50 100 150 0 50 100 150
Time (month) Time (month)
Tothill tested with Bonome funlinkage netcox Tothill tested with Bonome correlation netcox
p_value = 0.000813766677556949 p_value = 0.0026411212371904
100% 100%
p-value = 0.0008137667 p-value = 0.002641121
< = High risk - NetCox g == High risk - NetCox
s 5% 5 T5%
> — Low risk - NetCox =1 —— Low risk — NetGox
%] @
@ [o3
2 50% 2 50%
5 =
S >
E s E s
o o
0% 0%
0 50 100 150 0 50 100 150
Time (month) Time (month)
Tothill tested with Bonome funlinkage degree Tothill tested with Bonome correlation degree
p_value = 0.000430243359809568 p_value = 0.00450557885266367
100% 100%
p-value = 0.0004302434 p-value = 0.004505579
g = High risk - Degree g = High risk — Degree
s 5% s 5%
> = Low risk - Degree =1 = Low risk - Degree
@ @
@ o
2 50% 2 50%
= =
S =
E as E 250
o o
0% 0%
0 50 100 150 0 50 100 150
Time (month) Time (month)

Sé6



Testing dataset: TCGA

Tothill tested with TCGA lasso
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